ﬂé Checking Division Answers Name:

Check each answer. Determineif the answer is'correct' or 'not'. Answers

/. A\

(" bivision problemscanbe - oes . g 3517 182+ 6=29r5 N
checked by multiplying the 1.
quotient by the divisor and 29
then adding the remainder. x 6 2

174
If the answer is the same as + 5 3
the dividend, it is correct. 179 x '

\_ /

4,

1) 999+ 4=249r3 2) 135+4=33r3

5.

6.

7.
3) 552+5=78r6 4) 859+7=122r5

8.

9.

10.

5) 934+7=155r4 6) 259+4=64r1

7) 595+8=74r3 8) 650+7=92r6

9) 755+6=125 10) 410+7=51r2
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ﬂé Checking Division Answers Name. Answer Key

Check each answer. Determineif the answer is'correct' or 'not'. Answers
f Division problems can be 263+ 8=13217 182 = 6= 2915 \
checked by multiplying the ' ' 1 correct
quotient by the divisor and 29
then adding the remainder. x 6 2 correct
174
If the answer is the same as + 5 3 not
the dividend, it is correct. 179 x '
\_ j
4. correct
1) 999+ 4=249r3 249 2) 135+4=33r3 33
e 4 e 4 5, not
996 132
+ 3 + 3 6. not
999 135
7. correct
3) 552+5=78 r6. 72 4) 859+7=122 r5.12§ N correct
390 854
+ 6 + 5 9. not
396 859
10. not
5) 934+7=155r4 155 6) 259+4=64r1 64
° 7 e 4
1085 256
+ 4 + 1
1089 257
7) 595+8=74r3 74 8) 650+7=92r6 92
. 8 ° 7
592 644
+ 3 + 6
595 650
9) 755+6=125 125 10) 410+7=51r2 51
e 06 o 7
750 357
+ 0 + 2
750 359
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ﬂé Checking Division Answers Name:

Check each answer. Determineif the answer is'correct' or 'not'. Answers

/. A\

(" bivision problemscanbe - oes . g 3517 182+ 6=29r5 N
checked by multiplying the 1.
quotient by the divisor and 29
then adding the remainder. x 6 2

174
If the answer is the same as + 5 3
the dividend, it is correct. 179 x '

\_ /

4,

1) 931+5=186r3 2) 437+2=109r1

5.

6.

7.
3) 743+6=123r5 4) 712+7=118r4

8.

9.

10.

5) 791+2=395rl 6) 641+2=320r1

7) 587+3=195r2 8) 678+5=135r4

9) 283+4=70r1 10) 137+4=34rl
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5) 791+2=395r1 395

6) 641+2=320r1 320

e 2 e 2
790 640
+ 1 + 1
791 641

7) 587 +3=195r2 195

8) 678+5=135r4 135

e 3 « 5
585 675
+ 2 + 4
587 679

9) 283+4=70r1 70

10) 137+4=34r1 34

e 4 e 4
280 136
+ 1 + 1
281 137

ﬂé Checking Division Answers Name: Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. Answers
Division problems can be o A=
checked by multiplying the 263=8=3217 182=6=2915 1 not
quotient by the divisor and
then adding the remainder. o not
If the answer is the same as 3 correct
\ the dividend, it is correct.
\ . not
1) 931+5=186r3 186 2) 437+2=109r1 109
e 5 e 2 5, correct
930 218
+ 3 + 1 6. correct
933 219
7. correct
3) 743+6=123r5 123 4) 712+7=118r4 118
8. not
e 06 o 7
738 826
+ 5 + 4 9. not
743 830
10, correct

Math
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ﬂé Checking Division Answers Name:

Check each answer. Determineif the answer is'correct' or 'not'. Answers

N A\

(" bivision problemscanbe - oes . g 3517 182+ 6=29r5 N
checked by multiplying the 1.
quotient by the divisor and
then adding the remainder. 2
If the answer isthe same as 3
the dividend, it is correct. '

\_ /

4,

1) 367+8=45r7 2) 3838+9=43rl

5.

6.

7.
3) 691+2=345 4) 604+5=201r1

8.

9.

10.

5) 842+ 7=105r2 6) 333+6=55r1

7) 248+5=49r3 8) 610+9=67r7

9) 170+-9=18r8 10) 104+7=14r3
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ﬂé Checking Division Answers Name: Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. Answers
f Division problems can be 263+ 8=13217 182 = 6= 2915 \
checked by multiplying the ' ' 1 correct
quotient by the divisor and
then adding the remainder. o correct
If the gqswer igthe same as 3 not
\ the dividend, it is correct.
\ . not
1) 367+8=45r7 45 2) 388+9=43r1 43
e 8 e« 9 5. not
360 387
+ 7 + 1 6. not
367 388
7. correct
3) 691+2= 345.342 4) 604+5=201 rl. 203_; N correct
690 1005
+ 0 + 1 0. correct
690 1006
10. not
5) 842+ 7=105r2 105 6) 333+6=55r1 55
o 7 e 0B
735 330
+ 2 + 1
737 331
7) 248+5=49r3 49 8) 610+9=67r7 67
« 5 * 9
245 603
+ 3 + 7
248 610
9) 170+9=18r8 18 10) 104+7=14r3 14
° 9 o 7
162 98
+ 8 +3
170 101
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ﬂé Checking Division Answers Name:

Check each answer. Determineif the answer is'correct' or 'not'. Answers

/. A\

(" bivision problemscanbe - oes . g 3517 182+ 6=29r5 N
checked by multiplying the 1.
quotient by the divisor and 29
then adding the remainder. x 6 2

174
If the answer is the same as + 5 3
the dividend, it is correct. 179 '

\_ /

4,

1) 453+7=64r5 2) 412+-6=82r2

5.

6.

7.
3) 850+9=94r4 4) 328+7=65r3

8.

9.

10.

5) 686+3=228rl 6) 545+2=272rl

7) 656+5=131r1 8) 887+5=177r4

9) 776+5=129r2 10) 831+5=166rl1
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5) 686+ 3=228r1 228

e 3
684
+ 1
685

7) 656+5=131r1 131

e 5
655
+ 1
656

9) 776+5=129r2 129

e 5
645
+ 2
647

6) 545+2=272r1 272
e 2

544

+ 1

545

8) 887+5=177r4 177
e 5

885

+ 4

889

10) 831+5=166r1 166

e 5
830
+ 1
831

Checking Division Answers Name Answer Key
Check each answer. Determine if the answer is'correct’ or 'not'. Answers
f Division problems can be 263+ 8 =327 182+ 6= 2915 \
checked by multiplying the ' ' 1 correct
quotient by the divisor and
then adding the remainder. o not
If the answer is the same as 3 correct
the dividend, it is correct.
4. not
1) 453+7=64r5 64 2) 412+6=82r2 82
448 492
+ 5 + 2 6. correct
453 494
7. correct
3) 850+9=94r4 94 4) 328+7=65r3 65
8. not
e O o 7
846 455
+ 4 + 3 9. not
850 458
10. correct

Math
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ﬂé Checking Division Answers Name:

Check each answer. Determineif the answer is'correct' or 'not'. Answers

/. A\

(" bivision problemscanbe - oes . g 3517 182+ 6=29r5 N
checked by multiplying the 1.
quotient by the divisor and 29
then adding the remainder. x 6 2

174
If the answer is the same as + 5 3
the dividend, it is correct. 179 x '

\_ /

4,

1) 797 +8=99r5 2) 1000+2=333r1

5.

6.

7.
3) 649+4=72rl 4) 410+-6=68rl

8.

9.

10.

5) 922+3=307rl 6) 278+9=30r8

7) 302+9=75r2 8) 443+2=221rl

9) 289+7=41r2 10) 968+3=322r1
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Checking Division Answers Name Answer Key
Check each answer. Determine if the answer is'correct’ or 'not'. Answers
f Division problems can be 263+ 8 =327 182+ 6= 2915 \
checked by multiplying the ' ' 1 correct
quotient by the divisor and 29
then adding the remainder. x 6 2 not
174
If the answer is the same as + 5 3 not
\ the dividend, it is correct. 179 x / '
N s 4. not
1) 797+8=99r5 99 2) 1000+2=333rl 333
e 8 « 2 5. correct
792 666
+ 5 + 1 6. correct
797 667
7. not
3) 649+4=72 rl. 731 4) 410+ 6=68 rl. 6§ . correct
288 408
+ 1 + 1 0. correct
289 409
10. not
5) 922+ 3=307rl1 307 6) 278+9=30r8 30
° 3 ° 9
921 270
+ 1 + 8
922 278
7) 302+9=75r2 75 8) 443+2=221r1 221
. 9 ° 2
675 442
+ 2 + 1
677 443
9) 289+7=41r2 41 10) 968+ 3=322rl1 322
o 7 e 3
287 966
+ 2 + 1
289 967
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Checking Division Answers Name:
Check each answer. Determineif the answer is'correct' or 'not'. Answers
Vs N
(" Division problemscanbe — 5q5 . g 3517 182+ 6=2915 N
checked by multiplying the 1.
quotient by the divisor and 29
then adding the remainder. x 6 o
174
If the answer is the same as + 5 3
the dividend, it is correct. 179 x '
J
4,
1) 371+7=185r1 2) 728+-6=121r4
5.
6.
7.
3) 673+2=336r1 4) 839+2=419r1
8.
0.
10.
5) 502+3=167rl 6) 773+8=96
7) 898+ 4=224r2 8) 565+4=70r5
9) 972+7=138r16 10) 720+2=102r6

Math
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Checking Division Answers Answer Key

Check each answer. Determineif the answer is'correct' or 'not'. Answers
Division problems can be o A=
checked by multiplying the 263=8=3217 182=6=2915 1 not
quotient by the divisor and 29
then adding the remainder. x 6 2 not
174
If the answer is the same as + 5 . correct
the dividend, it is correct. 179 x
\_ j
4. correct
1) 371+7=185r1 185 2) 728+-6=121r4 121
o 7 e 6 5. correct
1295 726
+ 1 + 4 6. not
1296 730
7. correct
3) 673+2=336r1 336 4) 839+2=419r1 419 :
e 2 « 2 8. no
672 838
+ 1 + 1 0. correct
673 839
10. not
5) 502+ 3=167rl 167 6) 773+8=96 96
e 3 « 8
501 768
+ 1 + 0
502 768
7) 898+ 4=224r2 224 8) 565+4=70r5 70
e 4 e 4
896 280
+ 2 + 5
898 285
9) 972+ 7=138r6 138 10) 720+2=102r6 102
o 7 o 2
966 204
+ 6 + 6
972 210
1-10 | 90| 80] 70|60 |50[40]30]20]10] 0O |

Math

www.CommonCoreSheets.com

6




ﬂé Checking Division Answers Name:

Check each answer. Determineif the answer is'correct' or 'not'. Answers

/. A\

(" bivision problemscanbe - oes . g 3517 182+ 6=29r5 N
checked by multiplying the 1.
quotient by the divisor and 29
then adding the remainder. x 6 2

174
If the answer is the same as + 5 3
the dividend, it is correct. 179 x '

\_ /

4,

1) 452+7=64r4 2) 701+3=233

5.

6.

7.
3) 422+5=84 4) 241+2=120

8.

9.

10.

5 317+6=63r2 6) 513+9=128rl

7) 414+8=51r6 8) 124+7=17r5

9) 835+8=104r3 10) 499+8=62r3
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Checking Division Answers Name. Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. Answers
f Division problems can be 263+ 8=13217 182 = 6= 2915 \
checked by multiplying the ' ' 1 correct
quotient by the divisor and
then adding the remainder. o not
If the answer is the same as 3 not
\ the dividend, it is correct.
\ . not
1) 452+7=64r4 64 2) 701+3=233 233
448 699
+ 4 + 0 6. nOt
452 699
7. correct
3) 422+5= 84. 82 4) 241+2= 120.12;) N correct
420 240
+ 0 + 0 0. correct
420 240
10, correct
5 317+6=63r2 63 6) 513+9=128r1 128
* 6 e 9
378 1152
+ 2 + 1
380 1153
7) 414+8=51r6 51 8) 124+7=17r5 17
. 8 ° 7
408 119
+ 6 + 5
414 124
9) 835+8=104r3 104 10) 499+8=62r3 62

e 8
832
+ 3
835

* 8
496
+ 3
499
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ﬂé Checking Division Answers Name:

Check each answer. Determineif the answer is'correct' or 'not'. Answers

/. A\

(" bivision problemscanbe - oes . g 3517 182+ 6=29r5 N
checked by multiplying the 1.
quotient by the divisor and 29
then adding the remainder. x 6 2

174
If the answer is the same as + 5 3
the dividend, it is correct. 179 x '

\_ /

4,

1) 848+ 7=169r3 2) 464+3=154

5.

6.

7.
3) 687+5=137r2 4) 953+5=190r3

8.

9.

10.

5) 866+4=216r2 6) 627 +2=313rl

7) 163+4=40r3 8) 705+ 2=352

9) 448+5=49r7 10) 670+4=167r3
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Checking Division Answers Name. Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. Answers
Division problems can be o A=
checked by multiplying the 263=8=3217 LRSS 2l 1. not
quotient by the divisor and 29
then adding the remainder. x 6 2 not
174
If the answer isthe same as + 5
S s correct
the dividend, it is correct. 179 x /
7 4. correct
1) 848+7=169r3 169 2) 464+3=154 154
. 7 . 3 s correct
1183 462
+ 3 + 0 6. correct
1186 462
. correct
3) 687+5=137r2 137 4) 953+5=190r3 190
8. not
e 5 e 5
685 950
+ 2 + 3 Q. not
687 953
10. not

5) 866+4=216r2 216

. 4
864
+ 2
866

7) 163+4=40r3 40

. 4
160
+ 3
163

9) 448+5=49r7 49

Math

- 5
245
+ 7
252

6) 627+2=313rl1 313

o 2
626
+ 1
627

8) 705+2=2352 352

10) 670+ 4=167r3 167

o 2
704
+ 0
704

. 4
668
+ 3
671
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ﬂé Checking Division Answers Name:

Check each answer. Determineif the answer is'correct' or 'not'. Answers

/. A\

(" bivision problemscanbe - oes . g 3517 182+ 6=29r5 N
checked by multiplying the 1.
quotient by the divisor and 29
then adding the remainder. x 6 2

174
If the answer is the same as + 5 3
the dividend, it is correct. 179 x '

\_ /

4,

1) 939+2=469r1 2) 987 +4=246r2

5.

6.

7.
3) 142+8=17r5 4) 547+2=273rl

8.

9.

10.

5) 977+2=488rl 6) 946+ 4=236r2

7) 182+9=20r2 8) 838+8=139r4

9) 603+8=75r3 10) 197+7=65r2
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Name Answer Key

|

Checking Division Answers

Check each answer. Determineif the answer is'correct' or 'not'. Answers
f Division problems can be 263+ 8=13217 182 = 6= 2915 \
checked by multiplying the ' ' 1 correct
quotient by the divisor and
then adding the remainder. o not
If the gqswer igthe same as 3 not
\ the dividend, it is correct.
b 4. correct
1) 939+2=469rl1 469
o 2 5. correct
938
+ 1 6. correct
939
7. correct
3) 142+8=17r5 17 4) 547+2=273r1 273 t
. 8 . 0 8. no
136 546
+ 5 + 1 0. correct
141 547
10. not

5) 977+2=488rl 488

6) 946 +4=236r2 236

e 2 e 4
976 944
+ 1 + 2
977 946

7) 182+9=20r2 20

e O °
180 1112
+ 2 + 4
182 1116

9) 603+8=75r3 75

8) 838+8=139r4 139

10) 197+7=65r2 65

. 8 ° 7
600 455
+ 3 + 2
603 457

Math
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ﬂé Checking Division Answers Name:

Check each answer. Determineif the answer is'correct' or 'not'. Answers

/. A\

(" bivision problemscanbe - oes . g 3517 182+ 6=29r5 N
checked by multiplying the 1.
quotient by the divisor and 29
then adding the remainder. x 6 2

174
If the answer is the same as + 5 3
the dividend, it is correct. 179 x '

\_ /

4,

1) 297 +4=74rl1 2) 969+2=484rl

5.

6.

7.
3) 453+7=113rl 4) 846+4=211r2

8.

9.

10.

5) 421+4=105r3 6) 628+9=69r3

7) 634+4=158r2 8) 848+4=141r2

9) 787+6=131r5 10) 273+9=45r3
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Checking Division Answers Name. Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. Answers
f Division problems can be 263+ 8=13217 182 = 6= 2915 \
checked by multiplying the ' ' correct
quotient by the divisor and
then adding the remainder. correct
If the answer is the same as not
\ the dividend, it is correct.
N correct
1) 297+4=74r1 74 2) 969+2=484rl1 484
e 4 o 2 nOt
296 968
+ 1 + 1 not
297 969
correct
3) 453+ 7=113r1 113 4) 846+4=211r2 211 not
o 7 e 4
791 844
+ 1 + 2 not
792 846
not

5) 421+4=105r3 105
. 4

420

+ 3

423

7) 634+4=158r2 158
. 4

632

+ 2

634

9) 787+6=131r5 131
* 6

786

+ 5

791

6) 628+9=69r3 69
« 9

621

+ 3

624

8) 848+4=141r2 141
. 4

564

+ 2

566

10) 273+9=45r3 45

« 9
405
+ 3
408

Math
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